Scandia | innovation
PUMPS | belonar

EBARA EVMG45 TRYCKSTEGRINGSPUMP

PERFORMANCE CURVE

EVMG45
0 USgpm 50 100 150 200 250 300
| | | | | | |
| T T T T T
0 Impgpm. 50 100 150 200 250
06— 60
P Ho - 180
[MPa) [m] - H

—
T

- ft
N)/7-5kw . [ft

- \ o

0.4 — 40 =S ™

. 2 \ L 120
2,

S ky,
\ 100
“““ —— — —— 1

~0/4,9 KW ) - 80
L \ NPSH
0.2 20 — =

—— - ~—N m |

\ 6—20
- 40
S’/

- 10
NPSH L
. 20
__—/
0 0 0
0 200 400 600 800 1000 Q [imin]
| T T T T T T T
0 10 2 30 40 50 60 am
8 |
P2 2-0 _ e
[ L —
kW] 2-2 T

0 200 400 600 800 1000 Q [I/min]
80
n — ~
[ 70 n f\\‘k
22:\ N
% 1-0
60 1-1 N
\A
50

0 200 400 600 800 1000 Q [I/min]

Rotation speed 2900 min-1
Test standard: 1ISO 9906:2012 - Grade 3B

Produktdatablad ScandiaPUMPS : www.scandiapumps.com

© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tryckfel 434 37 KUNGSBACKA : info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMG45 TRYCKSTEGRINGSPUMP

PERFORMANCE CURVE

EVMG45
0 USgpm. 50 100 150 200 250 300
| | | | | | |
| | | | | I
0 Impg.p.m. 50 100 150 200 250
124 120
p H
[MPa] mo | T ———— —3%0 H
B —— f
L 4‘0/75 kVI/
\““~~~-q\\ \\ - 300
425, \\
08 80— —
T T —— | 3 N L 250
~0/.
T 32, k \\ 00
W
N \ NesH | 190
04 40 < m] 1
6 ——20 100
/ '/ 4
NPSH 10 50
// 2
0 0 0
0 200 400 600 800 1000 Q [Vmin]
| | T T T T T T
0 10 20 30 40 50 60 Qmdn
o 40 T
kW] 42 ~__—
8 310 I T
32 —_—
4
0 200 400 600 800 1000 Q [Vmin]
80 :
% 70 = \ 0
o \\
=
0 / 32/
[
4-2
50 |
0 200 400 600 800 1000 Q [Vmin]

Rotation speed =2930 min-'
Test standard: ISO 9906:2012 - Grade 3B

Produktdatablad ScandiaPUMPS : www.scandiapumps.com

© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tryckfel 434 37 KUNGSBACKA : info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMG45 TRYCKSTEGRINGSPUMP

PERFORMANCE CURVE

EVMG45
0 USgpm. 50 100 150 200 250 300
| L | | | —l |
0 Impgp.m. 50 100 150 200 250
204 200
p H - 600
[MPa] [m] H
[ft]
T —_ $
1.5 — 150 e \0/22 - 500
_ \6"%\
____ - } \?@ka\
~~~~~ - 20/ 18.5 kwy \ — 400
—_—
+— 5-2/, 25, 1
300
\ -
05 5 NPSH
[m] [f]
6——20 |- 100
T 4
NPSH - ‘T
0 0 0
0 200 400 600 800 1000 Q [Vmin]
T T T T T T T T
0 10 20 30 40 50 60 Q[m]
22 6|0 /’
P2 - —
' 62 ———— —
14 5}0 \/,/
52—  ——1
10 I
0 200 400 600 800 1000 Q [i/min]
80
n ’Q\ 5-0/6-0
L
[%] 70 // \
6-2 ~ N
|
o / 5-2 /\
50
0 200 400 600 800 1000 Q [min]

Rotation speed 2940 min-"!
Test standard: ISO 9906:2012 - Grade 3B

Produktdatablad ScandiaPUMPS : www.scandiapumps.com

© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tryckfel 434 37 KUNGSBACKA : info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMG45 TRYCKSTEGRINGSPUMP

PERFORMANCE CURVE

EVMG45
0 USgpm. 50 100 150 200 250 300
| — ' T ' T ' —! 1
0  Impg.p.m. 50 100 150 200 250
254 250
- 800
p H
[MPa] m H
—_ =700
_ —— [ — 8.
20 200 — — \82('7@W\
—_— -2/ B
*ﬂL‘\-SOkW 600
\\\\ — 7~0W \
\72/ \\
— son
15 150 Q \ - 500
\\ - 400
104 100
\ NPSH [~ 300
[m] [f]
620 |- 200
05— 50
NPSH 4
_— 10 |~ 100
/ 2
__/
= 0 0
0 200 400 600 800 1000 Q [Umin]
| T T T T T T T
0 10 20 30 40 50 60 Q[mdn
30 i :
g R I e
g 770 ~ %
0 ——=
72 —
10 I
0 200 400 600 800 1000 Q [imin]
80
n — T 7-0/8:0
| —
[ 70 — \7\
/ 72182 ~
60 P
50
0 200 400 600 800 1000 Q [imin]

Rotation speed 2960 min-"!
Test standard: ISO 9906:2012 - Grade 3B

Produktdatablad ScandiaPUMPS : www.scandiapumps.com

© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tryckfel 434 37 KUNGSBACKA : info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMG45 TRYCKSTEGRINGSPUMP

PERFORMANCE CURVE

EVMG45
0 USgpm 50 100 150 200 250 300
| | | | | | |
| | T T T T
0 Impgpm. 50 100 150 200 250
30— 300
P H _ - 900
[MPa] [m] T y
§__§§§§- F‘\ 70~0
L B *9\‘\70% — 800
T T T 0 ar—2s,
20— 200 \\\\\
\\\\ — 600
\\\\\
— 500
N\
— 400
10-{ 100 NS | 300
[m] [ff]
6 ——20 200
NPSH - 4
— ) 10 |- 100
0 0 0
0 200 400 600 800 1000 Q [Vimin]
| T | | | | T |
0 10 20 30 40 50 60 Qmy
40 i
P, 10-0 I
Tkw] 10.'2 ///___——-'—=
92 \/,//4/
0 | \y
|
0 200 400 600 800 1000 Q [Vmin]
80 I
n 9-0110-0 —
[%] 70 >\\
. 9-2/10-2
60 ,/
50
0 200 400 600 800 1000 Q [limin]

Produktdatablad

© ScandiaPUMPS 2017
Med reservation for tryckfel 434 37 KUNGSBACKA

Rotation speed 2960 min-"!
Test standard: ISO 9906:2012 - Grade 3B

ScandiaPUMPS
Kabelgatan 7

www.scandiapumps.com
+46(0) 3005212 10
info@scandiapumps.com

Ift




Scandia | innovation
PUMPS | belonar

EBARA EVMG45 TRYCKSTEGRINGSPUMP

TECHNICAL DATA
EVMG45

Dimensional sketch

Round flange (F) - DN80
c 1
B
T T
I I
@ =
T O
E
e
A -
BE==35 G 38
N
I
N° 8 holes 218
G3/8
pe s @mz;m S
o S Jj&
g BN
N° 4 holes 214 2160
266
331
Dimensions [mm] and Weights [Kg]
Motor Round flange (F)
3~ Weight
H2 Weight Pump +
kW  Size A Pump Motor
Pmax
Pump Type [MPa] B c H3
EVMG45 1-1F5/3.0 1.6 3.0 [ 100L 2160 196 155 306 525 69 92
EVMG45 1-0F5/4.0 1.6 4.0 | 112M | 2160 196 155 306 525 71 98
EVMG45 2-2F5/5.5 1.6 55| 132S | 2300 | 225 160 328 618 79 118
EVMG45 2-0F5/7.5 1.6 75 | 1328 2300 225 160 350 618 79 120
EVMG45 3-2F5/11 1.6 1" 160 M | 2350 248 194 476 821 97 159
EVMG45 3-0F5/11 1.6 11 | 160 M | 2350 | 248 194 476 821 97 159
EVMG45 4-2F5/15 25 15 | 160 M | 2350 317 238 498 893 105 194
EVMG45 4-0F5/15 25 15 | 160 M | 2350 317 238 498 893 105 194
EVMG45 5-2F5/18.5 25 185| 160L | 350 | 317 238 542 965 126 230
EVMG45 5-0F5/18.5 25 185| 160L | 350 | 317 238 542 965 126 230
EVMG45 6-2F5/22 25 22 | 180M | 350 360 268 577 | 1037 130 293
EVMG45 6-0F5/22 25 22 | 180M | 350 | 360 268 577 | 1037 130 293
EVMG45 7-2F5/30 25 30 [ 200L | 2400 | 399 300 658 | 1124 136 364
EVMG45 7-0F5/30 25 30 200L 2400 399 300 658 | 1124 136 364
EVMG45 8-2F5/30 25 30 [ 200L | 2400 | 399 300 658 | 1196 147 375
EVMG45 8-0F5/30 25 30 [ 200L | 2400 | 399 300 658 | 1196 147 375
EVMG45 9-2F5/30 25 30 200L 2400 399 300 658 | 1269 151 379
EVMG45 9-0F5/37 25 37 | 200L | 2400 | 399 300 658 | 1269 158 400
EVMG45 10-2F5/37 3.0 37 | 200L | 2400 | 399 300 658 | 1341 162 404
EVMG45 10-0F5/37 3.0 37 200L 2400 399 300 658 | 1341 162 404

1.6 MPa=16 bar ; 2.5 MPa=25 bar; 3.0 MPa = 30 bar

Produktdatablad ScandiaPUMPS : www.scandiapumps.com

© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tr 434 37 KUNGSBACKA : info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMG45 TRYCKSTEGRINGSPUMP

SECTIONAL VIEW
EVMG45

140
131-1

130-4

111-4

130-1

120-3 ?

115-5

128-1

135-1

1115 N !

111-2 =
\i\ ;

130-3

2744 — |
435 —

120-1

436 ————

137-1

T
|

e e T o e e S

N
&
l\«

Pump without ball bearing

Produktdatablad ScandiaPUMPS : www.scandiapumps.com

© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tryckfel 434 37 KUNGSBACKA : info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMG45 TRYCKSTEGRINGSPUMP

SECTIONAL VIEW
EVMG45

274-2
150
274-3

120-13
140
131-1
130-4 ]
111-4
130-1
120-3
1155
128-1
135-1
111-5

//

—

I/,

///
% 1

7

i

154 — =

1303 — |
47— |
2741

i -
T
[ |
@

2

\

120-1

137-1 —
48 ———1|
31 1% e
437 e /et

75-1 52-2 —— ] \
273-1 44-2 T W A

1
212-1 6 — ll\‘l\ 7 RN AN
\
\

—t
|

45 —

613 ~_]

T
j
n
8

L

L
-

—
L
L

Pump with single ball bearing

Produktdatablad ScandiaPUMPS : www.scandiapumps.com

© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tryckfel 434 37 KUNGSBACKA : info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMG45 TRYCKSTEGRINGSPUMP

SECTIONAL VIEW
EVMG45
2742
1207
1354 2=22 1%0
12013 /Jﬁ‘ T\ ~ 70-1
51 / AmAY ™ 56
N
N | 140-1
128-3 AN | Q Q
120-8 \LELE
\ N
245
140-2 M T . h
s Ar—H4S =5 N 162
1311 '. [ i .‘ s
130-2 ! Rk !
. 1353
130-4 \ j 120
111-4 e & -
\ #N\ | 120-6
130-1 | i
. ggz ! 120-4

120-3 ! e
‘. FETY | €@ | 273
1113 N [Su i [Euin
-} L) 75

- = -
:5 ! ; FiT =|=== 11
132’2 i = 115-1
| ‘\<
T ‘ 5.4
274t ———— LM | T 114
s —— 11 i ” N
‘ ‘\\
115-4

Il
/
/]

/1
i
[ ]
L[]
?3/63/

Produktdatablad ScandiaPUMPS : www.scandiapumps.com
© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tryckfel 434 37 KUNGSBACKA : info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMG45 TRYCKSTEGRINGSPUMP

SECTIONAL VIEW
EVMG45

/]
I {// |

75-1
2731
21241

Piimn with dniihle hall hearinn

Produktdatablad ScandiaPUMPS www.scandiapumps.com

© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tryckfel 434 37 KUNGSBACKA : info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMG45 TRYCKSTEGRINGSPUMP

SECTIONAL TABLE

EVMG45

N° MAI;-I\-IENT (IBAL DIMENSIONS STANDARD

5-2 Intermediate Casing EN 1.4301 (AISI 304)
5-4 Discharge casing EN 1.4301 (AISI 304)
6 Bottom casing Cast Iron EN GJL 250 EN 1561
7 Outer casing EN 1.4301 (AISI 304)
11 Casing cover Cast Iron EN GJL 250 EN 1561
12 Suction cover EN 1.4301 (AISI 304)
21 Impeller

- EN 1.4301 (AISI 304)
211 Reduced impeller
31 Shaft EN 1.4404 (AISI 316L)
39-1 Key Carbon Steel 12x8x90 UNI 6604
43-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304)
43-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
43-3 Shaft sleeve (bearing) EN 1.4301 (AISI 304)
43-4 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304)
43-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
43-7 Shaft sleeve EN 1.4301 (AISI 304)
43-8 Shaft sleeve (discharge-lower) EN 1.4301 (AISI 304)
44-1 Shaft sleeve bearing Tungsten carbide
44-2 Bearing sleeve (bottom bearing) Tungsten carbide
45 Flange holder EN 1.402 (AISI 420)
47 Ring Holder EN 1.4301 (AISI 304)
48 Impeller nut A2-70 UNI 7323 with inox insert M16
51 Motor adapter Cast iron EN-GJL-200-EN 1561
52-1 Bearing Tungsten carbide
52-2 Bearing Tungsten carbide
53 Bush holder EN 1.4301 (AISI 304)
56 Ball bearing see table page 363
70-1 Ring for bearing EN 1.4301 (AISI 304)
70-2 Ring for bearing EN 1.4301 (AISI 304)
75 O-Ring (plug) EPDM
75-1 O-Ring (plug) EPDM
81 Bush PTFE
107 Liner ring PTFE /EN 1.4401 (AISI316)
111 Mechanical seal Silicon carbide / Carbon / FPM

111-2 Mechanical seal cartridge

EN 1.4301 (AISI 304)

111-3 Mechanical seal seat

EN 1.4301 (AISI 304)

111-4 Seal holder

Brass OT 58 UNI 5705

111-5 Adjusting ring

EN 1.4301 (AISI 304)

115-1 O-Ring (outer casing) EPDM D.240.66x5.34
115-4 O-Ring (cartridege sleeve) EPDM D.24.99x3.53
115-5 O-Ring (seal cover) EPDM D.44.04x3.53

120-1 Tie Rod

Galvanized steel 6.8 strenght class ISO 898/1

Produktdatablad

© ScandiaPUMPS 2017
Med reservation for tryckfel

ScandiaPUMPS
Kabelgatan 7

434 37 KUNGSBACKA

www.scandiapumps.com
+46(0) 3005212 10
info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMG45 TRYCKSTEGRINGSPUMP

SECTIONAL TABLE

EVMG45

N° PART NAME MATERIAL DIMENSIONS STANDARD
EVMG

120-2 Tie-rod EN 1.4301 (AISI 304)

120-3 Screw A2-70 UNI 7323 M5x10 UNI 5931

120-4 Screw Galvanized steel 8.8 strenght class ISO 898/1 M10x25 UNI 5739
EVM45 1-0 and 1-1 M8x20 UNI 5931

120-5 Screw for coupling Galvanized steel 8.8 strenght class ISO 898/1
EVM45 3 to 10 M10x30 UNI 5739

120-6 Screw for coupling EVMa5 110 2 Galvanized steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931
EVM45 3 to 10 M12x30 UNI 5931

120-7 Screw Galvanized steel 8.8 strenght class ISO 898/1 M6X10 UNI 5739

120-8 Screw EVM452 -0 and 22 Galvanized steel 8.8 strenght class ISO 898/1 M12x25 UNI 5739
EVM45 3 to 10 M10x30 UNI 5739

120-9 Screw EVML EN 1.4301 (AISI 304) Mox8 UNIS737
EVM. EVMG UNI 5739

120-12 | Screw EN 1.4301 (AISI 304) M6x20 UNI 5931
EVM45 1-0, 1-1 M8x20 UNI 5739
EVM45 2-0, 2-2 M12x30 UNI 5739

120-13 | Screw EVMLA45 9-0, 10-0, 10-2 Galvanized steel 8.8 strenght class ISO 898/1 M6x10 UNI 5739
EVM45 9-0, 10-0, 10-2 M16x55 UNI 5737
EVM45 3-0 - 9-2 M16x65 UNI 5739

128-1 Nut for tie rod Galvanized steel M16 UNI 5588

128-2 Nut Carbon Steel M5 UNI 5588

128-3 Nut Galvanized steel M16 UNI 5588

129 Lock nut Carbon Steel M75x2

130-1 Set screw A2-70 UNI 7323 M6x8 UNI 5923

130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687

130-3 Set screw A2-70 UNI 7323 Méx6 UNI 5923

130-4 Set screw Carbon Steel M10x10 UNI 5923

131-1 Pin for shaft Carbon Steel

135-1 Washer Galvanized steel 17x30x3 UNI 6592

135-3 Washer Galvanized steel 10.5x17.5x2.2 UNI 1751

135-4 Washer Carbon Steel 6.4 UNI 1751

135-5 Washer EN 1.4301 (AISI 304)

136 Bearing washer Carbon Steel

136-1 Stopper ring EN 1.4301 (AISI 304)

13741 Impeller spacer EN 1.4301 (AISI 304)

137-2 Shaft spacer EN 1.4301 (AISI 304)

140 Coupling Brass OT 58 UNI 5705

140-1 Coupling (motor side) Carbon Steel

140-2 Coupling (pump side) Carbon Steel

150 Spacer Carbon Steel

162 Motor bracket Cast Iron EN-GJL-200 EN1561

212 Plug EN 1.4301 (AISI 304)

2121 Plug EN 1.4301 (AISI 304)

245 Coupling guard EN 1.4301 (AISI 304)

273 Plug Washer EN 1.4301 (AISI 304)

2731 Plug Washer EN 1.4301 (AISI 304)

2741 C-type snap ring EN 1.4301 (AISI 304) D.26 UNI 7435
EVM45 2-0, 2-2 D.50 UNI 7435

274-2 C-type snap ring EVM45 3 to 5 Carbon Steel TC80 D.65 UNI 7435
EVM45 6-0 and 6-2 D.75 UNI 7535

274-3 C-type snap ring Carbon Steel TC80 D.110 UNI 7437

613 Flange Carbon Steel

Produktdatablad

© ScandiaPUMPS 2017
Med reservation for tryckfel

ScandiaPUMPS
Kabelgatan 7

434 37 KUNGSBACKA

www.scandiapumps.com
+46(0) 3005212 10
info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMG45 TRYCKSTEGRINGSPUMP

QUANTITY FOR MODEL
EVMG45

o
Pump Type N
5-2| 11 | 21 |21-1|39-1|43-2|43-3 (434 [44-1| 51 [52-1| 53 | 56 |70-1| 81 | 107 |120-4|120-5|120-7|120-8(128-3| 129 (135-3|1354| 136 | 140 | 140-1(140-2| 150 |274-2(274-3
EVM(L)45 1-1F5/3.0 117171 / / / / / ! U2 I I A A 1 / 2 / / / / / / 1 1 / / / / /
EVM(L)45 1-0F5/4.0 117117/ ! / / / ! ! P O A A | 1 / 2 / / / / / / 1 1 / / / / !
EVM(L)45 2-2F5/5.5 2(/71 (12| 7/ 1 / / / 1 I{2(17)12]|2 / / / 4 / / / / 1 1 / / 1 1 1
EVM(L)45 2-0F5/7.5 27 (2|1 / 1 / / ! 1 r{2(17]12|2 / / / 4 / / / / 1 1 / / 1 1 1
EVM(L)45 3-2F5/11 311 112 1 2 / / / 1 /3|1 1138 3 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 3-0F5/11 (13| / |1 2 / / / 1 /3|1 1]1]3] 3 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)45 4-2F5/15 411122 1 2 1 1 1 1 114 (1 113 4 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 4-0F5/15 4 (1 4]/ 1 2 1 1 1 1 1141|134 4 4 3 4 4 / 4 3 ! / 1 1 1 1 /
EVM(L)45 5-2F5/18.5 511(13]2 1 3 1 1 1 1 1151 114 5 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 5-0F5/18.5 515/ |1 3 1 1 1 1 1151|145 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 /
EVM(L)45 6-2F5/22 61421 4 1 1 1 1 1161|156 4 4 3 4 4 / 4 3 ! / 1 1 1 1 /
EVM(L)45 6-0F5/22 616/ 1 4 1 1 1 1 1161 1156 6 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
EVM(L)45 7-2F5/30 71521 5 1 1 1 1 1171|167 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
EVM(L)45 7-0F5/30 717/ 1 5 1 1 1 1 1171167 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
EVM(L)45 8-2F5/30 81162 1 6 1 1 1 1 1181 117 8 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)45 8-0F5/30 818/ 1 6 1 1 1 1 1181178 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
EVM(L)45 9-2F5/30 91721 7 1 1 1 1 1191189 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
EVM(L)45 9-0F5/37 9 (19| / 1 7 1 1 1 1 1191 118 9 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)45 10-2F5/37 1011812 1 8 1 1 1 1 1110 1 119110 4 4 3 4 4 1 4 3 1 / 1 1 / / /
EVM(L)45 10-0F5/37 10( 1 (10| / 1 8 1 1 1 1 1101 |[1]|]9(|10]| 4 4 3 4 4 1 4 3 1 ! 1 1 / / /
BEARING
EVMG45
N°
Pump Type 56
EVMG45 1-1F5/3.0 /
EVMG45 1-0F5/4.0 /
EVMG45 2-2F5/5.5 63102ZZ C3
EVMG45 2-0F5/7.5 63102ZZ C3
EVMG45 3-2F5/11 63132Z C3
EVMG45 3-0F5/11 631322 C3
EVMG45 4-2F5/15 63132ZZC3
EVMG45 4-0F5/15 631322 C3
EVMG45 5-2F5/18.5 631322 C3
EVMG45 5-0F5/18.5 63132ZZC3
EVMG45 6-2F5/22 63152Z C3
EVMG45 6-0F5/22 631522 C3
EVMG45 7-2F5/30 6315 ZZDT C3 *
EVMG45 7-0F5/30 6315 ZZDT C3 *
EVMG45 8-2F5/30 6315 2ZDT C3 *
EVMG45 8-0F5/30 6315 ZZDT C3 *
EVMG45 9-2F5/30 6315ZZDT C3 *
EVMG45 9-0F5/37 6315 Z2ZDT C3 *
EVMG45 10-2F5/37 6315 Z2ZDT C3 *
EVMG45 10-0F5/37 6315 ZZDT C3 *

*DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

Produktdatablad ScandiaPUMPS : www.scandiapumps.com

© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tryckfel 434 37 KUNGSBACKA : info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMG45 TRYCKSTEGRINGSPUMP

PERFORMANCE CURVE

EVMG45
0 USgpm 50 100 150 200 250 300
| | | | | | |
| T T T T T
0 Impgpm. 50 100 150 200 250
06— 60
P Ho - 180
[MPa) [m] - H

—
T

- ft
N)/7-5kw . [ft

- \ o

0.4 — 40 =S ™

. 2 \ L 120
2,

S ky,
\ 100
“““ —— — —— 1

~0/4,9 KW ) - 80
L \ NPSH
0.2 20 — =

—— - ~—N m |

\ 6—20
- 40
S’/

- 10
NPSH L
. 20
__—/
0 0 0
0 200 400 600 800 1000 Q [imin]
| T T T T T T T
0 10 2 30 40 50 60 am
8 |
P2 2-0 _ e
[ L —
kW] 2-2 T

0 200 400 600 800 1000 Q [I/min]
80
n — ~
[ 70 n f\\‘k
22:\ N
% 1-0
60 1-1 N
\A
50

0 200 400 600 800 1000 Q [I/min]

Rotation speed 2900 min-1
Test standard: 1ISO 9906:2012 - Grade 3B

Produktdatablad ScandiaPUMPS : www.scandiapumps.com

© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tryckfel 434 37 KUNGSBACKA : info@scandiapumps.com




Scandia | innovation
PUMPS | belonar

EBARA EVMG45 TRYCKSTEGRINGSPUMP

PERFORMANCE CURVE

EVMG45
0 USgpm 50 100 150 200 250 300
| | | | | | |
| T T T T T
0 Impgpm. 50 100 150 200 250
06— 60
P Ho - 180
[MPa) [m] - H

—
T

- ft
N)/7-5kw . [ft

- \ o

0.4 — 40 =S ™

. 2 \ L 120
2,

S ky,
\ 100
“““ —— — —— 1

~0/4,9 KW ) - 80
L \ NPSH
0.2 20 — =

—— - ~—N m |

\ 6—20
- 40
S’/

- 10
NPSH L
. 20
__—/
0 0 0
0 200 400 600 800 1000 Q [imin]
| T T T T T T T
0 10 2 30 40 50 60 am
8 |
P2 2-0 _ e
[ L —
kW] 2-2 T

0 200 400 600 800 1000 Q [I/min]
80
n — ~
[ 70 n f\\‘k
22:\ N
% 1-0
60 1-1 N
\A
50

0 200 400 600 800 1000 Q [I/min]

Rotation speed 2900 min-1
Test standard: 1ISO 9906:2012 - Grade 3B

Produktdatablad ScandiaPUMPS : www.scandiapumps.com

© ScandiaPUMPS 2017 Kabelgatan 7 : +46(0) 3005212 10
Med reservation for tryckfel 434 37 KUNGSBACKA : info@scandiapumps.com




